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: iû]ûeY iìP^û :
: GENERAL INSTRUCTIONS :

l Gjò _âgÜ_Zâ iõfMÜ C�eLûZûùe Cbd \úNð I iõlò¯ C�ecìkK _âgÜ ejò@Qò ö
The Question-cum-Answer Booklet consists of long and short answer type of questions.

l \úNð C�ecìkK _âgÜ ̂ òcù« ̂ òcÜùe C�e ùfLòaû _ûAñ ̂ ò¡ûðeòZ iÚû^ \ò@û~ûAQòö _eúlû[ðúcûù^ ùijò
iÚû^ c¤ùe C�e ùfLòaû @ûagýK ö
For subjective type questions required space for each question has been provided. The

candidate has  to answer the questions in the space provided.

l ^òù�ðg @^ê~ûdú _âùZýK _âgÜe C�e ù\aû @ûagýK ö
Follow the instructions given against both the objective and subjective types of questions.

l C�e Kkû Gaõ ^úk afþ _G�þ ù_^þùe ùfLòaû @ûagýK ö
Candidate should write the answer with blue / black ball point pen only.

l _âgÜ_Zâ iõfMÜ C�e LûZûùe [ôaû _âgÜ _Xÿòaû, ùiUþ ùKûWÿþ còkûAaû, cê\âòZ _éÂû iõLýû I _âgÜ iõLýû
còkûAaû ^òcù« _eúlû[ðúcû^uê 15 cò̂ òUþ @]ôKû icd \ò@û~òa ö
Extra 15 minutes  shall be given to read the Question Paper -cum- Answer Booklet, verify the
subject code, No. of questions, No. of printed pages and illegible  printing if any for exchange.

l _âgÜ_Zâ iõfMÜ C�e LûZûe ùghùe iõfMÜ [ôaû  Lûfò _éÂû, bêf Keò[ôaû ù~ ùKøYiò _âgÜe C�e
ùfLòaû ^òcù« aýajûe Keû~òa ö @Zòeòq _éÂûùe ùKøYiò _âgÜe C�e ùfLòaû ùaùk _âgÜe KâcòK
iõLýû ùfLòaû @ûagýK ö
Extra pages given at the end of this booklet may be utilised for writing the answers or extra
answers if necessary. Question serial numbers with bit number if any should be written on the
margin of the additional Answer Book.
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MATHEMATICS    (PART - II)

SAMPLE QUESTION PAPER  FOR HSC EXAMINATION, 2014

Time : 1½ Hrs. Total Marks - 50

INSTRUCTIONS :

1. There are Five Questions in this part of the question paper.

2. All the questions are compulsory and all are having internal options.

3. Draw figures where-ever required.

4. The numbers at right hand side represent the marks of the question.

1.(a) icû]û^ Ke (Solve):   1
5 9

5
x

y+ =    I   1

3 2
14

x

y+ =                            (x ¹ 0) [5

Kò´û / OR

_ì�ðaMðùe _eòYZ Keò icû]û^ Ke (Solve by completing squares) : 14x2 + x – 3 = 0

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________
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_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

(b) ùMûUòG icû«e _âMZòe _â[c p iõLýK _\e icÁò r, _â[c q iõLýK _\e icÁò s Gaõ iû]ûeY @«e  d

ùjùf _âcûY Ke ù~, r

p

s

q
p q

d
– ( – )=

2
ö [5

The sum of the first p terms and q terms of an A.P. is r and s respectively. If the common

difference of the A.P. is d then prove that 
r

p

s

q
p q

d
– ( – )=

2
 I

Kò´û / OR

ùMûUòG fêWêùMûUòKê [ùe MWÿûAaûeê �`k @~êMà Kò´û `k > 2” @ûiòaûe i¸ûaýZû ^òeì_Y Ke ö
If a die is thrown once, then find the probability of getting

“one odd number or number > 2”.

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________



5

SET :  A

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

2.(a) 5 ahð _ùe _òZûe adi _êZâ adie Zò^òMêY ùja I 5 ahð _ìùað _òZûe adi _êZâ adie 7 MêY [ôfû ö
ùZùa ùicû^ue a�ðcû^ adi iÚòe Ke ö [4

Father’s age wll be 3 times of his son’s age after 5 years where as father’s age was 7 times of
his son’s age before 5 years. Find their present ages.

Kò´û / OR

~\ò 41x2 – 2 (5a + 4b) x + (a2 + b2 )= 0 icúKeYe aúR\ßd icû^ jê@«ò, ùZùa \gûð@ ù~, a

b
= 5

4
.

If the roots of the equations 41x2 – 2 (5a + 4b) x + (a2 + b2 )= 0 are equal

then, show that 
a

b
= 5

4
.

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________
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_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

(b) 1.3 + 3.5 + 5.7 + ....  n iõLýK _\ _~ðý« ù~ûM`k ^ò�ðd Ke ö [4

Find the sum of 1.3 + 3.5 + 5.7 + ....  up to n terms.

Kò´û / OR

^òcÜ iûeYú @«bêðq Z[ýûakúe c¤cû ^ò�ðd Ke ö
faþ]ûu (x) 4 5 6 7 8 9 10

aûe´ûeZû (f) 8 12 21 31 18 13   5

Find the median of the data in the table given below.

Score (x) 4 5 6 7 8 9 10

Frequency (f) 8 12 21 31 18 13   5

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________
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_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

(c) A(P,–1), B(2,–1) Gaõ C(2,1) aò¦êZâd GK ùeLúd ùjùf,  P e cìfý ^òeì_Y Ke ö [4

If A(P,–1), B(2,–1) and C(2,1) are collinear then find the value of P.

Kò´û / OR

x
1
, x

2
, x

3
, ....  _âbéZò n iõLýK faþ]ûue cû¤cû^ m ö ~\ò _âùZýK faþ]ûueê (a–b) aòùdûM Keû~ûG

ùZùa \gûð@ ù~, ^ìZ^ faþ]ûu MêWÿòKe cû¤cû^ (m – a + b) ùja ö
The mean of the scores x

1
, x

2
, x

3
, ....  is m. If (a–b) will be subtracted from each of the n scores,

then show that the new mean of the scores is (m – a + b).

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________
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3.(a) ùMûUòG aé�ùe \êAUò iaðic Pû_ ij iõ_éq Rýû \ßd iaðic ö _âcûY Ke ö [5

If two arcs of a circle are congruent then the corresponding chords are equal, prove it.

Kò´û / OR

GK ZâòbêRe \êA aûjêKê icû^ê_ûZùe @«aòðbûR^ Keê[ôaû ùeLû, Cq ZâòbêRe ZéZúd aûjê ij icû«e ö
_âcûY Ke ö
If a line divides any two sides of a triangle in the same ratio, then the line is parallel to the third
side. Prove it.

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________
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(b) DABC ùe mÐA = 600, b : c = 2 : 3 and a = 7.5 ùi.cò. ö ZâòbêRUò @u^ Keò 1.5 ùi.cò. aýûiû¡ð aògòÁ
aé�ùe Gjûe GK i\égùKûYú ZâòbêR @«fòðL^ Ke ö [5
Construct the triangle ABC, whose mÐA = 600, b : c = 2 : 3 and a = 7.5 cm., inscribe the similar

triangle of it in a circle of radius 1.5 cm.

Kò´û / OR

2.5 ùi.cò. aýûiû¡ð aògòÁ GK aé� @u^ Keò GK ic\ßòaûjê ZâòbêR _eòfòL^ Ke ~ûjûe gúhð ùKûYe
_eòcûY 450 ùja ö
Circumscribe an isosceles triangle whose vertex angle is 450 in a circle of  radius 2.5cm.

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________
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4.(a) \êAUò ajòüÆgðú aé�e Ægðaò¦ê P ö aé�\ßde GK iû]ûeY ÆgðK AB
←→

, aé�\ßdKê A I B aò¦êùe ùQ\ Kùf
_âcûY Ke ù~, ÐAPB GK icùKûY ö [5
Two circles touch externally at P.  A common tangent of the two circles touches them at A and
B. Prove that ÐAPB is a right angle.

Kò´û / OR

DABC ùe ÐB ùKûYe ic\ßòL�K AC  Kê E aò¦êùe Gaõ ÐC ùKûYe ic\ßòL�K AB  Kê F aò¦êùe ùQ\
Kùe ö EF BCII  ùjùf _âcûY Ke ù~, DABC  ic\ßòaûjê ö
In DABC the angle bisectors of ÐB and ÐC intersect AC  and AB  at E and F respectively. If

EF BCII , then prove that  DABC  is isosceles.

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________
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(b) ùMûUòG @�ûkòKûe _û\ù\gVûeê ‘a’ GKK Gaõ ‘b’ GKK \ìeùe GK iekùeLûùe @aiÚòZ \êAUò aò¦êeê
@�ûkòKûe gúhðe ùKøYòK C^ÜZò\ßd _eÆe e @^ê_ìeK ùjùf \gûð@ ù~, @�ûkòKûe CyZû ab GKK
ùja ö [5
The angles of elevation of the top of the tower from two points at distances ‘a’ unit and ‘b’ unit
from the base and in the same straight line with it are complementary. Show that the height of

the towar is ab  unit.

Kò´û / OR

A + B + C = 1800 ùjùf, _âcûY Ke ù~,  tanA + tan B + tan C = tan A. tan B. tan C
If A + B + C = 1800, then prove that tanA + tan B + tan C = tan A. tan B. tan C

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________
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5.(a) 8 ùi.cò. aýûiû¡ð aògòÁ aé�ùe 8 ùi.cò. _eòcòZ Rýû \ßûeû ùQ\òZ lê\âZe aé�L�e ùlZâ`k iÚòe Ke ö
                                                                                                    (3

~ 1.732) (p~ 3.141) [4
A segment intercepted by one chord of length 8 cm. of one circle of radius 8 cm. Find the area

of the minor segment intercepted.                                               (3
~ 1.732) (p~ 3.141)

Kò´û / OR

ùMûUòG ZâòbêRûKûe bìcò aògòÁ _âòRòcþe CyZû 18 ùi.cò. ö bìcòe aûjêcû^ue ù\÷Nðý 12 ùi.cò., 16 ùi.cò. I
20 ùi.cò. ùjùf _òâRòcþe icMâ _éÂZke ùlZâ`k Gaõ @ûdZ^ iÚòe Ke ö
The lengths of the sides of the prism of triangular base are 12 cm, 16 cm and 20 cm. Find the
total surface area and volume of the prism.

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________
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(b) ùMûUòG iek aé�bìcòK ùKû^þe CyZû I aýûie @^ê_ûZ 3:2 ö ùKû^þe icMâ _éÂZke ùlZâ`k
1232a.ùi.cò. ùjùf Gjûe N^`k ^ò�ðd Ke ö                                                 (p~ 22

7
) [4

The height and diameter of a right circular cone are in the ratio 3 : 2. If the total surface area of

the cone is 1232 cm2, then find the volume of the cone.                                  (p~ 22

7
)

Kò´û / OR

ùMûUòG ùMûfKe @ûdZ^19404 N.cò. ö Gjûe icN^`k aògòÁ GK @¡ðùMûfKe aýûiû¡ð ùKùZ ùja
iÚòe Ke ö (p~ 22

7
)

The volume of a sphere is 19404 cm3. Find the radius of one hemisphere. equal in volume with

the sphere.                                                                                                         (p~ 22

7
)

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________
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@Zòeòq _éÂû
ADDITIONAL   P AGES
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SPACE FOR ROUGH WORK


